
A–1030/MAEC-101 ( 1 ) P.T.O .

A–1030

Total Pages : 6 R oll No. ........................

MAEC-101

M .A. ECO NOM ICS (M AEC)
(M icro Econom ics)


1st Year Examination, 2024 (June)

Time : 2:00 Hrs. Max. Marks : 70

Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  (2×19=38)

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. “The elasticity of demand in a market is great or small

according as the quantity demanded increases much or

little for a given fall in price, and diminishes much or

little for a given rise in price.” (Marshall). Explain the

above statement with the help of diagrams.



 



        


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2. How do you separate Substitution effect and income

effect form price effect ? What will be the shape

of demand curve when income effect are separated

from price effect ? Give reason in support of your

answer.

         







3. Explain the ‘kinked’ curve theory of oligopoly. How

far it is satisfactory explanation of price rigidity under

oligopoly ?

kinked demand





4. State and explain the modern theory of rent. Show how

it can be applied to all factor ncomes.

       

  

 
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5. What is compensation principle related to welfare

economics ? Discuss critically Kaldor Hicks

compensation test.

      

      



Section–B

–

Sh ort Answ er Type Questions

  (4×8=32)

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. The law of demand is valid only if demand does not

change Elucidate.

 


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2. What is meant by elasticity of supply ? Describe in

brief the factors affecting elasticity of supply.





3. Write a note on Revealed Preference Theory.

 

4. What do you mean by production function ? Distinguish

between a short period and long period production

function.



 

5. Discuss the relationship between average revenue,

marginal revenue the elasticity of demand.



 

6. Bring out the point of difference between monopoly

and perfect competition.



7. Write a note on backward sloping supply of labour

 
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8. “The modern theory of profit regards the entrepreneur’s

contribution to the process of production as that of

bearing non insurable risk and uncertainity”. Discuss

this statement.



 

  

**************


